= A
N = 0] &F AF S & AN A
20228 = 20l A LEHSH BAHE
SH: BAEMY
Hu: & g2 PAARNUIA 2E
Selr RABZAHIA MB EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HHAN ) 64,992,781 52,612,894 12,379,887
= 25,462,708
g 13,236
Jl 9,494,872
& 28,021,965
TH 2,000,000
A =2 BAHASZNHHA 2= 13,475,861 10,314,447 3,161,414
= 8,734,880
Dl 459,250
c 2,281,731
TH 2,000,000
BAHAHEAMEA HZ2 13,475,861 10,314,447 3,161,414
= 8,734,880
J| 459,250
o 2,281,731
TH 2,000,000
BHEMYUN HHAA 15,300 34,000 A 18,700
308 XX SHHSOIH 15,300 34,000 A 18,700
01 AIXSHMENEXZ 15,300 34,000 A 18,700
ORIBBE SAFMYUN HHUAHHDS
15,300,000 15,300
ZHSA SIS A H 17,000 0 17,000
308 AXISHHMSOIA 17,000 0 17,000
01 IXHHIMNEXS 17,000 0 17,000
OEd HHEETF QS X& 8,500,000 8,500
OHEAN HAHZ2SFAAIZ =X
8,500,000 8,500
NE2Ho S HE 8 HARxEH 85,000 0 85,000
207 &I & 85,000 0 85,000
01 24| 85,000 0 85,000
OXEe2Hogsz HE 8 H32E2H 85,000,000 85,000
S ZFHAX A= XA 499,498 429,397 70,101
= 384,229
= 115,269
308 XHXIEH SOl A 499,498 429,397 70,101
= 384,229
= 115,269
01 AIKSHHEMNEX= 499,498 429,397 70,101
O F AN =X (2AHo2) AHAY
499,498,000 499,498
= 384,229
& 115,269
2SS E2HOAN 22 27,897 26,627 1,270
201 gBt24y| 5,355 5,891 AN 536




SN BAFYY
PN

M A g2 PAYRMHA 7E
&S EHHFIMHA MBS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 5,355 5,891 A 536
OZSEE2HYAN AR 5,355,000 5,355
308 XtXIEHH SOl A 22,542 20,736 1,806
11 3I2SOIHetE & X 2 AL I 22,542 20,736 1,806
OZ2SEHYAMN HARUEH FE3 22,542,000 22,542
SSEAHI A RN 4,675 0 4,675
201 et 4,675 0 4,675
01 At 22l 4,675 0 4,675
O30 d2edn=s 4,675,000 4,675
EAHISEEESRY BExus 14,520 11,934 2,586
308 XX EHSOIA 14,520 11,934 2,586
01 HIXNHHNBMNEES 14,520 11,934 2,586
OBAIUZHGZSRY B0 14,520,000 14,520
SHEBHA S 0FUF(XXNMEZ) 6,275,819 3,898,293 2,377,526
= 5,020,651
< 1,255,168
403 MtXISHHE X201 E 6,275,819 3,898,293 2,377,526
= 5,020,651
< 1,255,168
01 XM A=2EE 6,275,819 3,898,293 2,377,526
OsHEAS MHIAME XT3 6,275,819,000 6,275,819
= 5,020,651
< 1,255,168
AL MERZAME ES(MAA) 574,062 574,062 0
J| 459,250
< 114,812
403 A XIEHHS =0l A 574,062 574,062 0
J| 459,250
< 114,812
01 X HHMA=LE L 574,062 574,062 0
QAL M AHME E(MEA) 574,062,000 574,062
J| 459,250
< 114,812
SHEBHA S Ol (HAL =2]) 210,000 210,000 0
= 140,000
S 70,000
401 Al HIZ 201 I 210,000 210,000 0
= 140,000
< 70,000
01 A& HI 210,000 210,000 0
Oogas =el 210,000, 000 210,000
= 140,000
< 70,000




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Hadae € T HAFURS 532,700 452,165 80,535
101 Q124 H| 42,400 0 42,400
04 JI2ZtHIZ22 NEES 42,400 0 42,400
O 24 SAX 2121H| 42,400,000 42,400
201 LBt | 281,600 279,465 2,135
01 AP 22| d| 47,600 46,170 1,430
Oogald 22| 47,600,000 47,600
02 32%H| 234,000 233,295 705
OdId 34l 223,000,000& 223,000
OYaHd Q2B AAE QX2
11,000,000 11,000
202 04| 1,700 1,700 0
01 2L HI 1,700 1,700 0
OgaHd et &0 1,700,000 1,700
206 M = dl 207,000 171,000 36,000
01 X2 H| 207,000 171,000 36,000
Ogad NgxE S 207,000,000& 207,000
SY501s H3d A= 4,000,000 4,066,000 A 66,000
= 2,000,000
TH 2,000,000
401 Al HIL 201 Y] 4,000,000 4,066,000 A 66,000
= 2,000,000
TH 2,000,000
01 Al&H| 4,000,000 3,848,000 152,000
OsY501s HaaHE MAHAZT A&
4.,000,000,000& 4,000,000
= 2,000,000
H 2,000,000
2AL BAQ XA 1,190,000 0 1,190,000
= 1,190,000
308 XX SHHSOIH 1,190,000 0 1,190,000
= 1,190,000
01 AIXSHMENMNEXZ 1,190,000 0 1,190,000
OB2AHA Al K& 1,190,000, 000 1,190,000
= 1,190,000
BAAM jesH 29,390 11,969 17,421
201 B9 23,000 5,508 17,492
01 AP 22| H| 23,000 5,508 17,492
OBHEMEOF 2SN 22 =X 23,000,000 23,000
202 044 3,825 3,753 72
01 2L I 3,825 3,753 72




2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

SEEEEI LBV =E=ES

3,825,000

3,825

2,565

2,708

AN 143

2,565,000

2,565
2,565

2,708

AN 143

YW

11,521,858
184,128
13,236
9,035,622
2,288,872

8,354,969

3,166,889

olet oz 2tel

Ny

11,511,758
184,128
3,136
9,035,622
2,288,872

8,354,969

3,156,789

00
il
10
3]
N
e
0g!
J
w
E
2
=]
il
HT
A
oy

S

fn

626,600

578,000
48,600

600,000

26,600

308 MtXIEHMSOH

J|

626,600

578,000
48,600

600,000

26,600

S|
s}
08l

JrZ0Hol e 2x=3

626,600,000

y

H

626,600

626,600

578,000
48,600

600,000

26,600

=4

I

20182 54 X

0

J|

530,000
530,000

530,000

308 MtXIEHMSOIH

Jl

530,000
530,000

530,000

Ss4d NEsd 530,000,000

Il

530,000
530,000
530,000

530,000

Jl

H

2,626,520

2,020,400
606,120

2,763,800

A 137,280

308 XM S0IH

Jl

H

2,626,520

2,020,400
606,120

2,763,800

A 137,280

01 XM EES
OFAXNY S=2=dH - /& 24 XN
2,626,520,000

Il

in

2,626,520

2,626,520

2,020,400
606,120

2,763,800

N 137,280

0l0
w
10
fU
K
tn
ﬁ
1
=
il*
pal
{0
o
k|
S|
=

Jl

131,222
100,940

166,000

N24,778




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 30,282
308 XXM S0 A 131,222 156,000 N24,778
J| 100,940
< 30,282
01 IXNHHBNEES 131,222 156,000 N24,778
S22 DEHANY NA(LHIB)
131,222,000 131,222
J| 100,940
< 30,282
2228 DEHAXNAE XN (LS AIHA) 134,000 134,000 0
J| 134,000
308 XX EHH SOl A 134,000 134,000 0
J| 134,000
01 HXNHHNBMNEES 134,000 134,000 0
02222 DEHANS X (2BALA)
134,000, 000& 134,000
J| 134,000
FHAXS A8 UERZD 29 8,400 30,000 A 21,600
Jl| 8,400
308 XM SOIH 8,400 30,000 221,600
J| 8,400
01 AXSHBLEES 8,400 30,000 A 21,600
OFAXY AYHA HWERHI 8 8,400,000 8,400
J| 8,400
2=z )| 24l 3,100,000 3,015,000 85,000
J| 2,170,000
< 930,000
308 XXM SO A 3,100,000 3,015,000 85,000
J| 2,170,000
< 930,000
113/ 2SoHUHSZAEEALS I 3,100,000 3,015,000 85,000
Oosg22g dgd) 23l 3,100,000, 000 3,100,000
J| 2,170,000
< 930,000
et 22823 ASAY 23 102,974 128,864 A 25,890
J| 72,082
< 30,892
308 XtXIEHHSOIA 102,974 128,864 A 25,890
J| 72,082
< 30,892
N 3IN2SUHUE3 LS A 102,974 128,864 225,890
ON:t S2s2s 288 Y 23| 102,974
J| 72,082
< 30,892
MAAEER 29 X3 61,400 71,400 A 10,000




SH: BAEMY
HE: oo g ae
St oo o222 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Pl 30,700
& 30,700
308 XHXIEH SO0l A 61,400 71,400 A 10,000
J| 30,700
&< 30,700
112/ 2SUHUSHE A EAE AT Y| 61,400 71,400 A 10,000
OMHHEEA 29X 61,400
J| 30,700
& 30,700
S22 XS HE 2HH| 197,400 197,400 0
J| 98,700
=} 98,700
308 MXISHMSOIA 197,400 197,400 0
J| 98,700
& 98,700
112 2SHUSHEANRE A 197,400 197,400 0]
OS2 XNy 4| 197,400,000 197,400
J| 98,700
& 98,700
NS A= S32AS A 29 183, 100 164,000 19,100
307 2Iz2t0| & 5,100 6,000 A 900
05 QIZ2tE 2 5,100 6,000 A 900
OMLHHOAZRNAX(0=SSZ2AZME) 22 5,100
308 XAHXIGH SO0l & 178,000 158,000 20,000
11 Z2I2SHUSHEAXERAEASH] 178,000 158,000 20,000
Oz XN XS 28,000
Osd 2292 XN3c 29| 150,000
MEMESE 29 N 32,000 32,000 0
J| 22,400
& 9,600
308 XX EH SO A 32,000 32,000 0
J| 22,400
& 9,600
01 AIXSHMEMNEX= 32,000 32,000 0
odstse 29 & 32,000
J| 22,400
& 9,600
MHAM= S S3HX BRUAH 112,000 112,000 0
J| 56,000
&< 56,000
307 giztol A 112,000 112,000 0
J| 56,000
& 56,000
05 QIZtRES 112,000 112,000 0




SH BATHY
Y ofoF OtM 2t
Sl oloF o2 2e (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OtHAM= S S22HX WU 112,000
| 56,000
< 56,000
S=S8A B30sMAH 2= 120,000 0 120,000
308 XXM S0l A 120,000 0 120,000
01 IXNHHBANEES 120,000 0 120,000
o228 s30sHAH += 120,000,000 120,000
AsSHEEHI E= N 44,000 44,400 A 400
| 44,000
403 MHXISHEA=201H 44,000 44,400 A 400
| 44,000
01 AXSHMA=2EER 44,000 44,400 A 400
OXsa&Eszda) 22 N 44,000
| 44,000
NS ietitsi 859 zdls 84 X 105,000 146,000 A 41,000
= 80,000
< 25,000
308 XXM S0 A 105,000 146,000 A 41,000
= 80,000
< 25,000
01 AXSGHBLEES 105,000 146,000 A 41,000
OXY A& XNFX d=2d=2)=s 54 XN 105,000
= 80,000
< 25,000
SESALE2IAZMAH 2= 3,170,000 0 3,170,000
| 3,170,000
308 XXM SO0l A 3,170,000 0 3,170,000
| 3,170,000
01 IXNSHHBMNEES 3,170,000 0 3,170,000
Odgady 2HXE 3,170,000, 000 3,170,000
J| 3,170,000
ol AZE 3 EXXA At 79,466 0 79,466
= 61,128
< 18,338
403 MXISHE X201 & 79,466 0 79,466
= 61,128
< 18,338
01 XXM A2 £ 79,466 0 79,466
Ogzlla Aod2d EXXNE ALY
79,466,000 79,466
= 61,128
= 18,338
e L dEHE EEAY 36,261 40,290 24,029
307 21201 A 36,261 40,290 24,029




2N

SHY M
B oo orM e
Sl oloF o2 2e (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 36,261 40,290 AN4,029
OASLEE LAY 15,300
Oggzad & E2X& 20,961
MATHOH B S K& 44,000 37,400 6,600
308 A EHHSOIA 44,000 37,400 6,600
01 HXNHHNBHELS 44,000 37,400 6,600
OOt & HEX 2=zH s N2 44,000
=022 & AS X ALY 61,429 61,429 0
= 43,000
< 18,429
307 glz2tol & 61,429 61,429 0
= 43,000
< 18,429
01 222 F2Hl 61,429 61,429 0
OA=Q22X & AAAHNE AZ X AE
61,429,000 61,429
= 43,000
< 18,429
SEXNgHFI 2 0l 2AMR =8 AH N (2AEH 3,136 3,136 0
)
s 3,136
202 odl 360 360 0
s 360
01 = LH 4 1l 360 360 0
Ol oJkor™2ZAl & THE(04l) 360
s 360
206 M= Hl 2,776 2,776 0
s 2,776
01 =8l 2,776 2,776 0
Oflol d=+Z & M =l 2,776
s 2,776
flol AAE S ZM==HUI(XA) 2,850 2,850 0
206 M= Hl 2,850 2,850 0
01 =8l 2,850 2,850 0
Odoll A4ZE S B =HUI(XHA) 2,850
AIQEL 7= Il2 2 10,100 0 10,100
s 10,100
2AIQET Bz I 2e| 5,500 0 5,500
s 5,500
201 Let2d ] 5,500 0 5,500
ras 5,500
01 At 22l 5,500 0 5,500




2N

[=]
2
Za: oo

of Ot Bl
Hel A=t 222 2 (22 &d)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
OA=0&x "XAZII2 2| 5,500,000 5,500
= 5,500
=S FXNAZIN 2 SEMY 4,600 0 4,600
= 4,600
301 LEIEN = 4,600 0 4,600
= 4,600
12 IIEtE2 4= 4,600 0 4,600
OB KX ABI VO SEAY
4,600,000 4,600
= 4,600
S32ASMHIA 2HH 235 39,564,123 33,620,513 5,943,610
= 16,543,700
= 23,020,423
SS2ASMHIA FHEH 25t 39,564,123 33,620,513 5,943,610
= 16,543,700
= 23,020,423
SSEHASNEY &€ - 24 600,000 0 600,000
= 150,000
= 450,000
307 glztol & 600,000 0 600,000
= 150,000
= 450,000
05 2zt & =2 600,000 0 600,000
oz32dozNa-dt 29 600,000,000 600,000
= 150,000
S 450,000
Ngol2d A4 - ZHl e ALY 19,670,000 19,670,000 0
= 9,835,000
= 9,835,000
403 TtXI M S A =01 A 19,670,000 19,670,000 0
= 9,835,000
= 9,835,000
02 SIS0 U= AAE AL H| 19,670,000 19,670,000 0
OXNgogd Ald HHl Ut
19,670,000, 000 19,670,000
= 9,835,000
S 9,835,000
ANgogd H23X&AHY 160,000 152,000 8,000
= 80,000
= 80,000
403 TtXI M SA=01 A 160,000 152,000 8,000
2 80,000
= 80,000
02 SISO UE =R AE ALSH| 160,000 152,000 8,000
OXgeozad 23X AL 160,000,000 160,000




2N
X ZH -
L= B
el

o ton

2
(=}

=

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 80,000
& 80,000
Xeo=a BTL €= 3,906,000 3,906,000 0
=2 1,953,000
= 1,953,000
403 XX SHHS K20 & 3,906,000 3,906,000 0
= 1,953,000
= 1,953,000
02 BI2SHUESXE2ERAEAIS Y 3,906,000 3,906,000 0]
OZFoA2@ UASTAYBIL) NLLHE
3,906,000,000& 3,906,000
= 1,953,000
& 1,953,000
2222492 SEHMH REAIY (A 2,227,500 1,722,500 505,000
= 1,113,750
== 1,113,750
308 XX SHHSOIH 2,227,500 1,722,500 505,000
= 1,113,750
& 1,113,750
11 2I2SUHUSHEAEAE A Y| 2,227,500 1,722,500 505,000
OZ2Z22AHAZ AH =AY (F A
2,227,500,000 2,227,500
= 1,113,750
= 1,113,750
ZTZEACZ HAHMH ISAY (L) 22,500 22,500 0
2 11,250
o=t 11,250
403 XX SHHMS X201 & 22,500 22,500 0
= 11,250
o 11,250
02 2| 2SO UetI =& E A HI 22,500 22,500 0
O2Z22AH9Z EEAH RSAMY(XE2)
22,500,000 22,500
= 11,250
== 11,250
SSEAHESM & 16,400 0 16,400
= 8,200
o= 8,200
301 et M= 16,400 0 16,400
= 8,200
& 8,200
02 et=adet k2 16,400 0 16,400
OZ2Z2H&sM XA 16,400,000 16,400
= 8,200
& 8,200
Ngol2e YoM 4,573,398 5,144,023 570,625




2N
X ZH -
L= B

el

—tll— =
2ZoIBMHIA ZH 25
Do HUIA B 25

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 27,200 13,005 14,195
01 At 22l 27,200 13,005 14,195
O9z2d && 2LUH s 23248
27,200,000 27,200
306 ¢ 2 4,546,198 5,131,018 A 584,820
01 &3 4,546,198 5,131,018 A 584,820
OHIEA#A2 ERA d& FItQ2d 28
966,000, 000 966,000
OFEE ESUS AN 160,000, 000 160,000
OUs A & Fsts N& 60,000, 000 60,000
O2zd =848y siia 34 &
515,450,000 515,450
Oczd 3ty doix & 340,000, 000 340,000
OO dE A4S A MM 240,000, 000 240,000
Ozsztyg SeMblA & 22 630,000,000 630,000
OZcldyH nsdg 108,000, 000 108,000
OseExod oAyl XA 1,200,000, 000 1,200,000
OfRsd 243t Az A2 XX
326,748,000 326,748
NLAZH SZ22AS A 747,000 641,240 105,760
306 ¢ 2 747,000 641,240 105,760
01 &3 747,000 641,240 105,760
OFLHE(RENS)AEXNAALY
340,000, 000 340,000
Ogtgzz & X0 2 (d=zd 23
SHAL) 102,000,000 102,000
OXOtItE SR d=HAA 22 170,000,000 170,000
OJEd sAIAMY FA 85,000, 000 85,000
OFLHES ML AZoHM "Z, 2AXAA
e 50,000, 000 50,000
ALz Z2SEAZZ2 DAY 98,000 98,000 0
= 98,000
308 XtXIEHH SOl A 98,000 98,000 0
= 98,000
113 2SOHEHE & X 2 A I 98,000 98,000 0
OoXgoga SEEHEZZ20SEAMY
98,000,000& 98,000
= 98,000
23X 8le E¥ AME 539,325 599, 250 A 59,925
308 XXIEHHSOIA 539,325 599, 250 A 59,925
01 AXHHIYEES 539,325 599, 250 A 59,925
ESi gle E& ALY 539,325,000 539,325
Tgol2e mHA 20 2 KA 1,600,000 1,600,000 0




2N

(=]
M B HMHIA ZHA L35
S9l: BIABMHIA BB As CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 800,000
< 800,000
308 XX EHHSOIA 1,600,000 1,600,000 0
= 800,000
< 800,000
113/ 2SoHUHSZAEEALS I 1,600,000 1,600,000 0
OXgozd A ozoldd olAd XA
1,600,000, 000& 1,600,000
= 800,000
< 800,000
Ngozd JIsE4stAd 4,989,000 0 4,989,000
= 2,494,500
< 2,494,500
403 XA SA=0l& 4,989,000 0 4,989,000
= 2,494,500
< 2,494,500
02 S 2S00 CHE A2 E & AL H 4,989,000 0 4,989,000
OoXNgozd JIsSE3AY 4,989,000,000 4,989,000
= 2,494,500
= 2,494,500
Fa0gel d=dl XA 15,000 15,000 0
307 21201 A 15,000 15,000 0
01 92724l 15,000 15,000 0
O&=0gel dzHl XL 15,000, 000& 15,000
A0 o2t SZREHEH 29 K 360,000 0 360,000
308 MtXIEHSOIH 360,000 0 360,000
01 X HHILEES 360,000 0 360,000
OO0t Of2tSzd2dH 29 A&
360,000, 000 360,000
EA ZIEE ASY X ALY 40,000 0 40,000
403 MtXISH S A2 01 & 40,000 0 40,000
02 SO 2SHHEHAHE X 2 E AL Y 40,000 0 40,000
Ozad BII18s A28 X A Y
40,000,000 40,000
WREsS(2AF ) 288,365 165,865 122,500
HWEHAXS(BAFH L) 288,365 165,865 122,500
(N2 IIsELZAY)NAMEI = 8t 288,365 165,865 122,500
705 ==&l 34 288,365 165,865 122,500
04 Al - EXHHLII S0l == 0l Kt &t &t 288,365 165,865 122,500
OoXNgozd JIs2d 288,365,000 288,365
HH2IZH(BAZ D) 142,574 157,100 A 14,526
Jledul (218 =0 142,574 157,100 A 14,526
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45,900
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